Who was the 12" President of India?

Choose the most approprtate answer from the
optlons given below:

(A) Dr. A.P.J Abdul Kalam

(B)  Shri Pranab Mukherjee

(C) Smt. Droupadi Murmu

(D) - Smt. Pratibha Devisingh Patil

(E) Question not attempted

IR 3 123 Tl F 47
ﬁn%%aﬁmaawmwm;ﬁ
(A) ST é.aqagamq :

(B) it worer HEs |

© AR

(D) aﬁmﬁuﬁméaﬁamﬁa

(B) Sigaiaus

Which of the following is designated as the Nodal
Agency in Rajasthan to implement the Prime
Minister Formalization of Micro Food Processing
Enterprises (PM-FME) over a period of 5 years
from 2020-21 to 2024-25? " e
Choose the most appropriate answer from the
options given below:
(A) The Rajasthan State Apphed Marketmg
Board
(B) The Rajasthan State Food Marketing
Board :
(C) The Rajasthan State
Marketing Board :
(D) The Rajasthan State Administration
Marketing Board :
(E) Question not aftempted
' Sfafad & R 202021 & 2024-25 T 5 T
o} srafer i TUTE GEH T SR a3
AT (T — T T S) T o Ferg T
ﬁr:ﬁgaqaﬁ%mﬁmﬁﬂ%mw%? '
i foed 1 & wartfire Jagw SHCT:
(A) T R TTES AIH A1

Agricultural

‘Which of the following schemes wa

s launched to

integrate skill development in academic colleges?

Choose the most appropriate answer from the

options given below:

(A) Mukhya Mantri Yuva Sambal Yojana »

. (MMYSY)
(B) Mukhya Mantri Kaushal Nirman Yojana
(MMKNY)
(C) Mukhya Mantri Kaushal Vikas Yojana
, (MMKVY)
(D) Mukhya Mantri Yuva Kaushal Yojana
(MMYKY) :
(E) Question not attempted
Steaforer e 3 @l freT S CRET FH &
fre Frefrfaa § @ SH-H AT IE IR Y
Freferfiae foeredl f & wrarffares Ug SACL:
(A) T gaT e AT (MMYSY)

- (B) T e Fgior dreET (MMKNY)

(C) T e forshr FIET (MMKVY)

. (D) WEEHH gaT Ere FisET (MMYKY)
(@) AR

Name the oldest fort situated on the banks of
river Ghaggar:

Choose the most appropriate answer from the

options given below:
(A) Jaigarh Fort
(B) Nahargarh Fort
(C) Bhatner fort
(D). Amer Fort
(E) Question not attempted
T et 3 e T Revra e e S-ar 22
fFrfafaa fredl 3 @ waifas sogw s
(A) G foRa
(B) reuTe e
(€) W fora
(D) 3R foret
(E) orfaRays
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Brahma Temple is located i which place of"

Rajasthan?

Choose the most appropridig answer from the
options given below: n

n;ﬂ
(A) Alwar . (N
(B) Banswara E::"
(C). Jaipur ")
(D) Pushkar ' =

(E)  Question not attempted

wnﬁtm%ﬁﬁm ésr‘. 2

Freafirfia famret & & watfaraeages s
N
(8) 3w [~
(B) igaTeT N
©) oW ™
LN Q
(D). TR .
(E) srgaftaws v~
)
llal

Who in Rajasthan is remendBered as an icon of
bravery, self-respect and sacgﬁce‘?

Choose the most appropmﬁnanswer from the
options given below: et

(A) Rana Sanga =i

(B) Vijay Sir¥gh Rathore i;?

© Amar Singh Rathore f:“j
(D) Maharaja Gaj Singh €\

(E) Question not attempteé:)

TTeT H fodt sTeTgd, TTed e 3R sifeie &
Wrefier o w9 H 918 foRaT ST 891

Freaferf e 4 4 wa'ﬁiz%’mmaﬁ
(A) TomET ﬁ::'

B) freaEfirzws E\; ‘

© smfgmds O

(D) wewrs TSt Rig

(B) i@y

®

Match List-I with List-IT:

List-I List-1I

a.  Depositing a layer L Melting
of zinc on iron )

b. Changing a solid i infgy IL Evaporanon ‘

- liquid on heating €}

. Changing a gas int¢™ III. Condensation
liquid on cooling €%

d. Changing a liquid 0 v Galvamsatlon
into gas on heating ™

et -1 2t et -11 @ gafera e :

mﬁl mﬁ-n

a. AR i =) m/I
T T =T

b. m?aﬂ%‘mta'mw;&fn ElicTwl
EERECRE) N :

c. smEawiwHE Sl gue
53 I 98T /o

d. T A T IV. AT,
Nadgeer

Choose the most apprgprmte answer from the
options given below: =t

o1 e e fereren ﬁﬁaaﬁ?m;mwaﬁq
(A) a-IV,b-1,c-nfd-1m

®) a-IV,b- I,c-xrg‘:"d-n

© a-III,b-II,c-T&_{Bi:]-I

(D) a-ILb-IMc-1,d-IV

(E)  Question not attempted / SITafta wsr
Deforestation is harmﬁlir?fé us because-

Choose the most appr [phate answer from the
options given below:

(A) - Itincreases ;ramfeglh :

(B) - It increases soil ffility.

(C) = Itincreases, soil-erosion,

D) It decreases soxi ey,;qsmn

(E)  Question not attepvipted

RIS AT R B 3, i

mﬁmﬁﬁmmmaﬁ
(A) traarq‘?ﬁarﬁa'wﬁl
(B) =& Tt it S sgrar 21

(C) I I3 - IR G R

(D) I T - STYEH ST 2l
(B) TgeRe s

[ Contq..,



9 Which of the following statemEﬁtS are correct
regarding the Keoladeo National Park?
a. It is located in Pratapgarh city.
b Tt is the habitat for many birds.
c. It is famous for conservation of the leopard.
d Migratory birds come here in specific
seasons. '
Choose the most appropriate answer from the
options given below:
(A) (b)and (d) only
(B) (a), (b) and (d) only
- (©) (3,0 and (c) only
. (D) (b), (c)and (d) only
(E). Question not attempted -
mmm%aﬁﬁﬁmﬁ%ﬁﬁﬁﬁmﬁ
U AT 87
a  TE ARG MR A Rew R
b, e 3ToR T T AT A 2 \
c. ﬁﬁg@@qﬁ)'%m%mm%l
o et it el & SRR T v & f
31T &
413y P R 7 @ watfir 37w ST
(A) Faa (b) 3 ()
® ¥ @, ()@
© ¥ (a), (b) F ()
@) ¥ (b), () (@
(E) Igafawd
10 Which of the following is not a fresh water fish?
Choose the most appropriate answer from the
options given below:. -
(A) Hilsa e (B) Common Carp
(C) Catla (D Rohu
(E) Question nofé:c_tempted
S i FH-61 T e STt e et
Srefafiga fmedt § & waifas I FACL:
(a) fes ®)
(c) e D) W
(E) T S
ABC -Al13] @
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T T:- B
B e o et o 4 rrffos JTEF ST
(A) A S
(B) HERETE ST &
(C) A 7 = TS :
(D) e & = =TS ‘
(E) FaRawd L

The first phase of Jaipur Metro Rail Project i-€ ||

Phase - 1A started, was from: i
Choose the most appropriate answer from the
options given below:

(A) Mansarovar to Chandpole
(B) Mansarovar {0 Jaipur

(C) Mansarovar to Badi Choupar
(D) Chandpole to Badi Choupar

(E) Question not attempted 1
wﬁawmmmmﬂm S1IATE B

In Rajasthan a special economic zone for Gems

and Jewellery has been established at:
Choose the most appropriate answe
options given below: E
(A) Bhiwadi- Alwar ; o
(B) Debari- Udaipur

(C) Boranada - Jodhpur e
(D) Sitapur - Jodhpur. h :
(E) Question not attempted :
e o T SR 35 ferg e e st
Prfrfiag Rrered! 3 & Tatfires SUg ST x

r from the ©

Which of the following states does NOT share its {8
border with Rajasthan? - i
Choose the most appropriate answer from the'
options given below: B
(A) Madhya Pradesh (B) Punjab 4
(C) Gujarat (D) Maharashtra

(E) Question not attempted %
S 3 & BT TS T 3 AT R
ROIPNASIFSIIE S SO e ————
@ TERE B ww
(C) TS D) WERTS

(B) FgAr@wH i

4 [ Contd...[
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In the winter season rainfall occurs in some parts
of Rajasthan due to the Mediterranean cyclones,
which is called

Choose the most appropriate answer from the
options given below:

(A) The Mango Showers
(B) Mavath

(C) The Blossom Showers
(D) Kall Vaishak

(E) Question not attempted

ma@ﬁm%@wﬁﬁm

=Tshalld! | B aTelt aut aR w27
ﬁﬁ%@ﬁﬁwﬁﬁﬁwﬁmwm’éﬁ:
(8) o aNf (B) UGS
© T HRIdSR (D) werdwTE
(B) STgaf@wy
Which is the biggest saline water lake of
Rajasthan?
Choose the most appropriate answer from the
options given below: '
(A) Sambhar (B)  Lunkaransar
(C) Didwana (D) Pachpadra
(E)  Question not attempted
TSFEI <l Feardt 9t @i Ot Y sfter e 82
Frefiafia fasredt o & warifores sages s
(A) wmR B) T
(© Eeamr . (D) W=
(B) Srgaf@ye '

16  Which river of Rajasthan is connected to the
Vedic and Puranic period?
Choose the maost appropriate answer from the
optiohs given below: 3
(A) Banganga (B)  Luni
(C) Saraswati (D) Mahi .
(E)  Question not attempted
TSR hl Shi-et et s o o e i
29 -
FrefaRag faeredt i & aaffors sugw oo
(4) SR (B) it
(C) wret (D) W&
(E) orgafta

ABC-A13 ] @
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’

g jon
Khejarli Andolan for environment conservatio
is associated with which state of India?
Choose the most appropriate answer from the

options given below:

(A) Rajasthan
(B) Karnataka
(C) Gujarat
(D) Madhya Pradesh
(E)  Question not attémpted
TR T % fAT S I St stk
AT o foner o  weiftr 22
s foeredt 3§ & watforer sagw sex T
(A) TSEIE
(B) i
© T
(D) wEWRW
(B) gaiaws

If we cut an apple and leave it in a plate for some

time, it turns reddish-brown in colour. This is due

to the formation of

Choose the most appropriate answer from the

options given below:

(A) Magnesium oxide

(B) Calcium oxide

(C) Tron oxide

(D) Zinc oxide

(E) =~ Question not attempted

I & O B e o wE kR e e
| SOE, AR A TR ST 21 T

o I < ST BT B -

ﬁnﬁrﬁaaﬁm;ﬁ%mﬁémwgmw@:

(A) AR sieaes

(B) Hfcuaw TS

(C) HAFH TS

(D) fSies sifrmTsS

(E) rguia s

[ Contd...



19  Which of the following" will float on water?
a.  Air filled balloon b. Sodium
c. Potassium a1 Gold ring
e. Steel spoon &)
Choose the most appropriate answer from the
options given below: ' :
(A) (a), (b) and (c) only F™
(B) (a)and (d) only ‘
(C) (c), (d) and (e) only o
(D) (), (c)and (@) only
(E) Question not attempted

ﬁw%%aﬁﬁﬁ#mmw%waﬁﬁ%o

a. wﬁmnamr Hifgy

c. iefirm ({kﬂ TR o
e. Hid S T _
e e et 59 < SUGH SEU:
(A)  HIH (a), (b) AR () g

(B) el (a) 31K (d)

(©) A (), (d) 3 ()
(D) e (b), () 3R (d)
(B) Irgaiaws ol

20  Select the incorrect st%%ments about the
properties of non-metals. ;

a. Non-metals are founid,'m all three states of
matter. :

b. Except diamond all gop-metals are ductile.

c. Graphite is the harde3fmon-metal.

d. Bromine is a liquid non-metal. '

€. Iodine is a lustrous pof-metal.

Choose the most appropfiate answer from the

options given below: |

(A) -(b)and (c) only (B"%’l(a) (b) and (e) only.

(C) (d)and(e)only ( ) (a), (b) and (d) only

(E)  Question not attemp(taﬁ '
. STt <t ferarett < e, ST et T T

Hifir

a. Wmﬁ?ﬁﬁmﬁ\?ﬁm?ﬁ%l
b, ﬁ%mwmmaﬁ
C. mﬁaﬁ“ﬁﬁ?
d. aﬁtﬂf{@ﬁam%&
e. AT TF THHICH U] Bl
ﬂ%ﬁqwﬁmﬁﬁwﬁﬁmmwaﬁ
(A) Fa (b) 3N (c) m
(B) Fad (a); (b)aﬂt(em
(€) e (d) 3T (e)
(D) 9 (a), (b) I (d)
(E) Srdfys

ABC-A13] @
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- Choose the most appropriate answer from the

A5

.
and not with zinc ﬁ i

31

Food cans are coated with tin

because-
Choose the most apﬂrppna
options given below: =

fe answer from the

(A) Zinc is more re@clgve than tin. 4_
(B) Zincisless readtive than tin. %
(C) Tinis an inert rhetal. *
(D) Zinc has h:gherfm elting point than tin. :

Question not a e;}npted
@ﬁa; él;?&l((%mmm%mmﬁﬁwﬁ
aft 2 Fifen- '
Pt faredt § 7

3’!73?53?1’(?__?4'

(A) ﬁﬁﬁ-—rémﬁmﬁﬁﬂ‘%’
(B) ﬁm%%m@mﬁa’%i
©) feosfRfEaqgl
(D) Ff T eI, {2 it 20 A B 2
(E) gai@yg (1)
()

A convex mirror is also called as :
Choose the most appropriate answer from the
options given below: {7}

(A) Plane mirror %'

(B)  Parabolic mirrof ™

(C) Divergent mirr T

(D) Convergent mn{:p)l-

(E) Question not attgglpted
ERSESUED] ot wEd &

Frfcfiaa foreredt 3 {Aaifae sogw saU

(A) WA {(B) T
(C)  3T9|RY gy “‘(b) Tt gdor
®) FTaTE ;,ﬂ_ ,

Name the scientist V(I}? proposed the Laws of
Inheritance. )

options given below:

(A) Hargovind Khux:‘agla

(B) - Newton Wi

(C) = Gregor Mendekj\,,]

(D) T.H.Morgan [+

(E)  Question not aftépted

SrRTwTfer 26 foarm B YT St o Ay
Frferfia oot o & Harferes e s =it
(A) TUNRREIT (B) =

© ¥misd (D) Auw e
CERIORD]
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The cost price of an article is % of its selling
price. The profit percentage in this transacuon is:

el e T T T Sk R T 5 tam

EEECEESICE I LU CE SR
(A) 24% (B) 25%
© 15% - (D) 20%

(E) Question not attempted / aﬂﬂﬁﬂ EE’H

What is the single discount. equivalent to
successive discounts of 25%, 20% and 15%7?
hiteh oI5t 25%, 20% 3R 15% %W@aasr
(A) 49% (B)  42%

(C) 60% D) - 51%

(E) Question not attempted / Sigfiﬁ?f EI’H

On selling an article at a dishcouht of 28% on its
marked price, the shopkeeper still earns a profit
of 20%. Had he sold the article at the marked
price, his préﬁt percentzige wouid have been:
fopelt o T SR T W 28% 3 3 WY A
+ff THAET 20% T ARG FTT 81 I T8 g
SifeRa TEd U SAT o 36 T T Wi fohe
(A)  58% B)  33T%

© 66%% D) 40%

(E) Question not attempted / aﬂ?rﬁ?r L)

What is the least number which when decreased

by 4 is exactly divisible by 10, 12, 14 and 18?7
Tl ey Bt v AT S fSEH 9 4 g W AR 10,
12, 14a~m18@mvh farvfora et SITeft 87

(A) 1252
(B) 1260
(C) 1256
(D) 1264

(E)  Question not attempted / Wﬂﬂ BE

®

28

29

30

31

What is the greatest number which divides 1491
248 and 623 leaving remainders 5, 8 and 1

respectively?

Areft T s s T 8, fEd 149, 248 qur 623
F Rl T WA 5, g 3t 11 3 o< 87
(A) 12 B) 15

(C) 20 D) 9

(E) Question not attempted / SraRa ¥4

What is the HCF-of two numbers if their LCM is

' 36 times their HCF and the product of the

numbers is 23047
3 Gl T Heaw GHTIdSE T ¥, Al ST
mwmwmmséw%

TUT AT UGS 2304 g7
A) 9 B) 10
C) ¢ D) 8

(E) Question not attempted / ailfl)ﬂﬁ?l' BE

Which dance is performed in the temple of Kaila
Devi?

Choose the most appropriate answer from the
options given below:

(A) Fire Dance

(B) - Dandiya Dance

(C) Languriya Dance

(D) Dhol Dance .

(E) Question not attempted

et =t wifeT § w-ar T o smar 22
Frfaftea faeedl 94 @ gaffaes soge s
(A)  AMTT . (B) SitsarT

(C) WIETT (D) IATH

(E) aﬂ?rﬁ‘crsr%{ ‘

3 S
What dance is performed in the sitting posture?
Choose the most '&ppr‘opriate answer from the

‘options given below

(A) Bamrasia Dance(B) Gavri Dance
(C) Bhawai Dgr}_qq (D) Terahtali Dance
(E) Question not at’tempted

-7 T St g5 AT A o ST @2
fFrafaftaa faeredl § & waifie sugw soo gt
(A) wHufEng  (B) ﬂaﬂaw

(C) ¥arsTH (D) ATl T
(B) Igaiawd

[ Contd...




project the surplus water of Ravi-Beas

i

32" ‘Chaar Baint’ is the famous folk drama/ | 35  Under this |

presentation of which region of Rajasthan? s utilized for irrigation!in Rajasthan. § ,
Choose the most appro (?) te answer from the Choose the most a priate answer frO‘m the ;
options given below: <ff options given below{x}
(A) Tonk g (A) Gandhi Sagar Pam Project
(B) Jaisalmer ‘ ; .
i ject
(D) Dausa g (C) Bisalpur Dam(I_’;t,O_]Ef
(E) Question not attempted (D) Panchana Dam Project
R Sw e % e é’i' H AR o (E) Question not a v»{npted
e/l 82 v @l % sfaqryEt-saa @ Al Gﬁr |
ﬁmﬁmﬁmﬁanﬁmmmaﬁ rear R 35 Fr S fopam ST 21
(A) * | (\l Pt Rrredi & G-gaifie Iag® Sut g
(B) ST ™~ (A)  TIief G s SREET
(@ =t % (B) ﬁm aﬁav@m
(D) ST il
: o) ferararqt sty afesmT
(B) omuf@ys (C) = Ieeer e
T (D) YT St AREERT
‘ P ™)
33 The sum of three numbef§}is 196. If the ratio of (E) 3 Ll =
the first number to the sec??d numberis 2 : 3 and o
that of the second numbf,:_ o the third number is 36  Where was the 200 @dition of India-USA Joiut
5 : 8, then the first numbgrjs: : . ... ;
T Herett @ A 19678 afk el ST gE Miltary exercise y"Yudh - Abhyas-2024° 8
AT T ST 2 : 3 %%Ta‘&rﬁ SR e T Rondneted]

, 1SS 83, Wﬁlﬂ@" 2, Choose the most apptopriate answer from the
(A) 40 N P options given belowg : '
(B) 120 =} (A) Rajasthan ¢\

(C) 60 gf : , (B): Madhya Pradésgi
D) & N (€ ) Gujarat o 5
(E) Question not atteqipjed / FTANT T (D)  Odisha P '“_
34 The ratio of the average 5‘? two numbers to one of (E)  Question not attempted :
the numbers is 2 : 3, What is the ratio of the larger . YRE-3mfERT TIH Y| o UE AT 20247
number to the smaller nuniber? T 2081 GEHT HEl ﬁfﬁﬁﬁ! Toram o
-a‘m@raﬁé?eﬁaﬁaﬂt A T HEAT HT A ﬁn%%ﬁﬁmﬁmmmaﬁ
?A)3 %lzaa?maﬂtaﬁ?;@wmmw%‘? iy e 5
B) 3:1 o b ™"
© 4:1 ™ © T O
ey 02 (D) s
(E) Question not atternpted / mﬁf{ﬁ B e : (E) = R S
ABC - A13] @ ; 8 [ Contd...
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Sahitya Akademi Award winner Rajasthan Poetry ‘

‘Mugtee’ is authored by:

Choose the most appropriate answer from the
options given belov:;{ '

(A) Meethesh Nigijohi
B) Chandrabhanﬁ“ghayal

(C) Khalid Hussgin , (

(D) Arjun Chaw%
(E) Question noteatfempted

uifeer stk qEaR fosi, e
T 3 o ‘"“'
ﬁm%ﬁaﬂﬁﬁq’rﬁ@wﬁ%:mwgﬁ
(A) vﬂ%srﬁnﬁ’rN

B) ?ﬁﬂ#ﬁ@r@q

() @z ™M
© e ©
(B) wrERasx

™

Identify the person?om_‘Rajasthan, awarded the
Sarvottam Jeevan }%:Iksha Padak O?osthumously)
by the President of{fnldia in 2021.

Choose the most @mpriaté answer from the
options given below:

(A) Gyan Chand

B) Anil Kumarm
(C)  Jatin Kumare:gf

(D) Ramavtar Gbdhra

(E)  Question not ajtempted :

34 itk i TR S TSR ¥ HEg ¥ iR
58 2021 % ¥ hrsgafer 510 watow sfia wr
Teeh’ (FROTIL) & geT TR T em
frfifa freredt 3 Fatfi sugew s
@ e )

(B) AMATAR vy

(C) wfmgar [~

(D) trrna?ntﬂﬂztm

(B) ATRA@TH ¢

Which soil found in the wéstem part of Rajasthan
is less fertile? .
Choose tﬁe most appropriate answer from the
options given bég,%w:

(A) Desert Soilp  (B)  Black Soil

(C) Laterite Sol (D) Alluvial Soil

(B) Questiongxat attempted

T % afireTs F el S areft - 3a
FH YIS Bl &7
ﬁn%mﬁmﬁ%aaﬁﬁwmmaﬁ

(A) m?«ﬁu@ (B) el T

(C) WTEIPHy (D) FEGHA
Fraid Wi
(E) G o
™M

Which of the folloWwing are exotic milch breeds of

cows?

a.  Red Simﬂ b.

c. Tharparkat! d.
e. HolsteinFHiesian

Jersey

Brown Swiss

Choose the mt{s{' appropriate answer ffom the

options given bERQw:

(A)  (b), (©) afed(d) only

(B) (d) and (e) only

(©) (a), (b) apdi(c) only

D)  (b), (@) 883 (e) only
'ﬂl

(E) Questioncqi)t attempted

T2
a. Fﬂa%

e ATATEF d. Wﬁa'{:r
e. - TCEATEERR

ﬂ%mmﬁmﬁ%wﬁ%mmaﬁ
(A) ¥ (b)5(e) 3R (d)

(B) W(d)%t(e)

(€) ¥ (a)C) 3T (c)

(D) W(b@) 3 ()

(E) aﬂ?rﬁ‘crsr%r

1
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According to the Census of 2011 the lowest sex
ratio is found in which district of Rajasthan?
Choose the most appropriate answer from the
options given below:

(A) Dungarpur, (B) Nagaur

(C) Rajsamand (D)  Dholpur

(E)  Question not attempted

2011 T SIRTUHT 3 QT Tereer ¥ g Ry
e = fof RICIRIC
ﬁw%%ﬁﬁmﬁﬁmﬁba;mmaﬁ
A) g (B) AmirC

(C) USHH= (D) HEgR

(E) gaiaws

The lowest populated district of Rajasthan
according to the Census of 2011 is: .
Choose the most appropriate answer from the
options given below:

(A) Jaisalmer (B) Bundi

(C) Dholpur (D) Sirohi

(E)  Question not attempted

2011 Y SIIMT 3 STGHR TSR F G &7
SIFHTEAT T T 2
ﬁmﬁiﬁﬁﬁr@ﬁ%mmmgﬁ
(A) SR ®) =@

© dEw ®) feeh

(EB) gEiEawy o

In Rajasthan under the Mukhyamantri Nishulk
Bijli Yojana (Domestic Subsidy) free electricity
(Zero bills) is provided to consumers whose
electricity consumption ‘is
month.

Choose the most appropnate answer from the
options given below:

(A) 200 Units (B) . 250 Units

(C) 100 Units (D) 150 Units

(E) Question not attempted

e 7Tt ﬁm forsteft emT (]
wferdh) ¥ @8q ST T forstedt (I
faret) wa Y St & okt @ua q\ﬁz
yfemTe 2l

PR fasredt i & warifires Suge ST
(A) 2007 (B) 2509fe

© 1003F (D) 1509

(E) ruRdawys

®

units per

10

44

45

46

cheme provides employ

:thl;: Sunempllc)chd youth by Pr oviding them
employment oriented skill training?
Choose the most appropriate answer from the
options given below:
(A) Rajasthan Jan Kaushal Skill Karyakram
(B) Rojgar Jan Kaushal Skill Karyakram
(C) Rajasthan Jan Kaushal Vikas Karyakram
(D) Rojgar” Aadharit Jan Kaushal Vikas

Karyakram
(E)  Question not attempted
-t Ao ST et et e
HIRTEA0T JE Feh fﬁnm T 7aEL IZE HA %v
(A) TSR S shiaTet ket ek
(B) ST S et et ik
(C) TS I Tt R shreishet
(D) SR ATaTed < ehietel foshTer shrdshd
(B)  AguRavd

What is the least number which when divided by

12, 15, 18 and 20 leaves a remainder 3 in each
case?

mbﬁamw%ﬁﬁrlzlslsaﬁtzoﬁ

oo 7w vl Refa B 9w 3 s=ar o
(A) 267
(B) 183
(© 177
(D) 186

- (E)  Question not attempted / 3133‘&?\' e

Which city did Maharaja Su_:é.jmal set up in
Rajasthan?

Choose the most appropriate answer from the
options given below:

(A) Mewar (B) Bharatpur

(C) Udaipur (D)  Jodhpur

(E) Question not attempted

RIS GLSTHS = TSR 3§ -8 S8 srmar o

ﬁﬁﬁﬁ@aﬁmﬁﬁwﬁfﬁmmmaﬁ
GV 4 (B) R
(©) IR (D) SR

(BE) orgafaws
A [ Contd...
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48

49

ABC-A13)

O

Sagarmal Gopa a democrat and freedom fighter
belonged to which state? ‘

(A)  Uttar Pradesh (B) Delhi

(C)  Punjab (D) - Rajasthan :
(E)  Question no}gf[tempted :
- T HfrT &y .

@) smww g pe

(c')‘ EEIGC ‘ f:‘; (D) TsIEyE

(E)  37qaRa s vy

‘Which of the followitg states were merged in the
first stage of Integfdtion of the present Rajasthan?
Choose the most (tngropriate answer from the
options given belofw;“ 5

A) Banswara, Bundi, Dungarpur

B) Pratapéarh, gﬂahpu;a, Tonk

(C)  Alwar, Bhartpur, Dholpur, Karauli

(D) Bikaner, Jaipur, Jaisalmer

. Question n%%itternpted o
aﬁmm%@mﬁ;mwﬁﬁﬂ%ﬁa
o & o Troat st e e o
Freferia el s & wraifire soges seoa:
(A)  SEETeT, d4 g T
(B) WaTTe, Wegw, dem

(C) oremm, A, T, Flfeft

(D) =R, Ei'ﬂgtﬁ'ﬂaﬁt

(E)  377afd 5oy
R g
A shopkeeper sol{%:ﬂ item for ¥ 1188 and suffered

a loss of 10%. At {ﬁéat price should he have sold |.

the item to gain 20% profit? :

U SHMER forelt @8 1 T 1188 F Ay & af

- 10% B 33T &1 20% T W Y 35 For v

T T I e T ST s
(A) - T 1584 1,4}

Ly 1
® Tiers - 4
1567 ! pu
T1657 ¢\
Question nftqttempted / SR 737

i) |

O]

D)
(E)

11

50

51

52

- (B)

Rohan buys a wrist watch at % of its marked
price and sells it to his friend at price which is 8%
more than its marked price, his profit percentage

is: Lo ;
m@mﬁ%ﬁaﬁw% «fSL T ERiEdT 8
e s i o e e 0 e e vt 2
&) ST T R 2-

(A) 35% ¢y (B) 32%

(C) 28% (7} D) 30%

(E)  Questidnhot attempted / :ﬂgﬁﬁa pE-)

Which Nationalf Highway does not pass through
the Rajasthan¢¥}

Choose the nigst appropriate answer from the
options given@élow: :

(A) Nation 1“ ]—Ii ghway No - 44
Nation?ld{ighway No -23
Nation@i—lighway No-11

(D) National Highway No - 10

B Questigt_llnot attempted

A TR Gt Troreerr 3 S 7 TSI 82
aﬁ%%qﬂqﬁqu‘iﬁﬁwaﬁmgmmgﬁz

(A) T gstmt we - 44

(B) e TSt it - 23

©) AT HET - 11

(D) Ul gsmt wear - 10

® e

©

Which of thg_following cities in Rajasthan is
known as the'y'City of Stepwells® due to the
prominence 6tBawrig? ;

Choose the r';;ﬂst appropriate answer from the
options giventt‘;erlﬁ‘\'ﬁ}":q

(A) The Ci yof Jaipur

(B) The Ci‘tbcfif :Ajmer

(C)  The City of Udaipur

(D)  The City of Bundj
. (E) Questii?‘i’nbt attempted _

Tt & & BT BT ST ATt oy
ST 35 Shiar, ST R T 2
ﬁq%%ﬁﬁﬁﬁﬁwaﬁa?smgwmgﬁ;
(&) SRR (B) s

© IR (D) T
(E) rgefeits

[ Contd...




53  According to the Census of 2011, which of the
following districts of Rajasthan was the second
largest populated district?

Choose the most appropriate answer from the
op.tions given below: - '

(A) Jaipur (B) Alwar

(C) Bikaner (D) Jodhpur

(E) Question not attempted

ST 201 1 3 AT e 8 & TSTeT 67 81
freferfan faredt # & wafféres sugw s
(A) SEAIT (B) 3TIE

(©) s (D) SHE

(B) AANA A ;

54 - Which of the following statements is correct in
the context of the location of Rajasthan on a
World Map? &

Choose the most appropriate answer from the

options given below:

(A) The tropic of cancer passes through the
- middle of Rajasthan.

(B) The equator passes through the northern

. part of Rajasthan.

(C) Rajasthan is located in the ~southern
hemisphere.

(D) The tropic of cancer ‘passes through the
south part of Rajasthan. :

(E) Question not attengbted

PR & - e e it o et

wfufa e dader

Frferfia Faebedt 3 & wratfirds J9ge I T

(A) s T T 36 T W & B e €

(B) W}@Wa;ﬁﬁmﬁéﬁﬂﬁﬁﬁ
2 | |

(C) - TS afrft s o oo 21

(D) o T T 35 St r & SR et
2

(B) rgaiausy

ABC-A13] @

12

55

56

(A) Southern Rajasthan
(B) Northern Rajasthan
(C) Eastern Rajasthan

(D) Western Rajasthan

(E) Question not attempted

The highest amount of rainfall is received by

j 2
which of the following parts of Rajasthan
Choose the most appropriate an

options given below:

W%ﬁ#—ﬁmﬁwﬁwﬁﬂaﬂm@?ﬁ?
ﬁmﬁf@aﬁaﬁﬁﬁﬁmﬁﬁrﬁmﬁw?ﬁ:
(A) SRiTEeE (B) SWU aEe
© qiweE (D) LIECIREE2IE]
(B) rgaiayd |

Match List-I with List-IL
List-I
a.  Gobar gas plant L

List-II
Iron scrape and
broken plastic

items

b. Vermicomposting II. Solid waste
c. Land fill IIT. Cow and buffalo
. dung
d. Recycling IV. Earthworm .
B ERICE GBI EAALSIEY T I
et E-IT :
o, MedEET L dRASEEERE
: ' T AT T HTHA
b. FefdRET I 3w i

c. ¥fiT R (cfefter) III.WSﬁIﬁéa;rrhai

' Choose the most appropriate answer from the

options given below:

2 R T ferehedt # & watires 9w ST

(A) a-IULb-I,c-1,d-1V
(B) a-Lb-TLc-I,d-1IV
(C) a-ILb-IV,c-1Ld-I
(@) a-ULb-IV,c-T,d-I
(E)  Question not attempted / STTATCT T

[ Contd...
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Penicillin was discovered by

Choose. the most appropriate answer from the
options given below:

(A) Alexander Fleming

(B)  Robert Koch

A\ (C) Edward Jenner

(D) Louis Pasteur

(E) Question not attempted
ffafer s anfaser

o

FafaRas foredi 4@ aaff@:?s IGH I -
(A) TSI (B) fas are

(C) TSI (D) e

(B) AFaiawsy

The first woman president of the Indian Olympic

= g famar mar

Association is: :
Choose the most appropriate answer from the
options given below: :

(A) - P.T. Usha (B) P.V.Sandhu

(C) Smritilrani (D) Sudha Murti

(E)  Question not attempted

T ST G T Juq e 7538 i 82
frfafaa fawedt 4 @ aaifae sugw sw
(A) 93T B) . Ey

© wHswt - (D) gurEld

(E) Sgaiaysd

The Construction of the Ganga Mandir of
Bharatpur was started by Maharaja Balwant
Singh in 1845 and the construction work

‘continued for

Choose the -most appropriate answer from the
options given below:

(A) 60 Years | (B) 90 Years

(C) 10 Years (D) 20 Years

(E)  Question not attempted -

WAR & T AT 1 i TewST sea fig
B 1845 # yr& T mar ar o fwior w5

amwn
ﬁﬂ%ﬁaﬁmﬂﬁwﬁwmwaﬁ
(A) 60 T% TR (B) 90 7 7
€) 10afaF (D) 2098 dH

(B) srgaf@ws

®

60

61

62

Which type of turban is worn by the men in
Rajasthan on the occasion of marriages? '
Choose the miost appropriate answer from the
options given below:

(A) Antiwali (B) Mothda

(C) Lahariya (D) Madeel

(E) Question not attempted

e ¥ foarg & mmmﬁwmaﬁrm@
TS €2 :
ﬁw%%aﬁmﬁﬁaaﬁbmmmaﬁ
(A) it ®) s

(€) wfEr D) w

(B) Iaiayy

Ankit bought 4 shirts at ¥ 550 each and 2 trousers
at ¥ 820 each, what is the average cost of the
items? : i :

Sfoha 3 4 TS T 550 T ol I H qUT 2 Faed
(T2) T 820 7% T T H @RI T T AT afma'

7 T T R?

A) 640

B) 620

(© 69

(D) T 665

(E)  Question not attempted / 313\"1‘&?[ pe-1

The average weight of a class of 33 students is
35 kg. If the weight of the class teacher and the
principal be 1nclut1ed \then the average weight
increases by 1 kg. W}iat is the average weight
(in kg) of the class teacher and the principal?

T HET & 33 ﬁm&f&rwaﬂwm% formm 21

w%wmaﬂtmaﬁ%amﬁsﬁsﬁgﬁm

ST Y 37 oIS 1 R o1 ST &) e o
TeTTeTd < 3 o (Frm i) R 2
(A) 525
(B) 59.7
©) 52
(D) 5025
(E)  Question not attempted / 3T7aRa ¥
[ Contd...
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ABC:-A13]

(A) 4575 vy (B)

In a class of 40 students, 45% are girls. The

average weight of the boys is 48 kg and that of

the girls is 43 kg. What is the average weight
(in kg) of the \ﬁh‘ole class?

Teh <hET % 40 3 TH T 45% TSRt 8 Tt
T 3T T ﬁ T af wrefnat w1 sfvea T
43 Tokm @1 ol e o 3t are (foRm ) 7 20
48.8

(C) 4525 {{fy "~ (D) 405

(E)  Questiohalot attempted / TN W5y

Which one qf jthe following national parks/
sanctuaries is famous for conservation of fossils
in Rajasthan? &4
Choose the niosy appropriate answer 'from the
options given below:
(A) Rantharﬁpl?re Nanonal Park
(B)  Sariska Wjldlife Sanctuary
< ~ National Desert Park, Jaisalmer
D) Keoladev National Park
E) Questhfliot attempted '
ﬁmﬁr%aﬁ?mm?jﬂmmwwﬁ
Sfraest 3 wrep 3 o wfteg 2
ﬁw%f@aﬁaﬁﬁft%waﬁ‘wmwaﬁ
A) weRTEESEE
(B) i F3T v
©) - Wﬂi@am T
(D) HaeRT TS Fam
() sguiagy

(%8 ethil *
The Bhakhra Niangal Project is a joint venture of:

Choose the nipst appropriate answer from the.

options given below: o %
(A) Punjab %Iaryan'; & Raj asthan
(B) Punjab aryana

(C) Punjab, Haryan4'& Himachal Pradesh

(D) Rajasthan, Haryana & Himachal Pradesh

E) Questioh*_ﬂot attempted

TGS AT WiomTs 10 o7 Uk 6 Sa B
S et Juge ST
(A) S, Bl sfR TSR

- (B) WSﬁ(gﬁmﬂ

(©)  uT, s o Fs'maau%‘ﬂ
(D) Tsreerr; g sii fewreret wowT
(E) rmiawsy

66

14

(O Mm{;g&y

67 -

The “One District One Product Scheme fal

under which ministry in Rajasthan?

Choose the most appropnate answer from

options glv*ep,below

(A) Ministgr of Textiles ,

(B) Mmﬂl!y of Commerce and Industry:

of Fi inance

(D) Mini:stqy of  Social
Emplowerment

(E) Questioh not éttempted

@ﬁwﬁﬁﬂﬁzﬁw mﬁﬁmwﬁ

%:ﬂ?ﬂh@@
frffiga el 3 & waifares Iugw ST
(A)  FISt I
(B) arﬁr%";qamnm
© FedzRE
(D) ETIS =AW O SATeRITET ST

- (B) rguidwn

48

Which of tFlg’ followmg schemes prov1de health

insurance geyerage to the entire populatlon of . ,»
" Rajasthan?(N]

Choose th%)nost appropriate answer from the .

options given below: :

(A) Mukhyamantri Nishulk Janch Yojana

B) M antri  Chiranjeevi
Bima;}f ojana

(C) Mukliyamantri Nishulk Niro
Yojz!c;\%

(D) Mukhyamantri Nishulk Dava Yojana

(B)  Quesiidn not attempted S

Freafafas & & S e w6 mmf

ST ki ST ST Shoist W el 29 '

Frefaflas i g watfas® ez ST

(A) g st A

(B) el fertsielt Tamees sffar Sieey

©) u@@ﬁmﬁﬁﬁﬁﬁmm

(0) e} e v

(E) - aagirf’&rw

4

Swasthya

gi Rajasthan

. - BT A i =
B e e e e T G e ST "

Justice: and

i ik




to 63% of itself. Then 20% of the number is:
frffEETad 111 azﬁqraama%s% ta'smﬁ
2| 3T GEAT T 20% =

(A) 60 ®) 42
©) 126 (D) 555
. (E)  Question not attempted / 3Twfa war

i

A sum of money amounts to I 8000 after 5 years

69

and to T 9800 after 8 years at the same rate of |

simple interest. The rate of interest per annum is-
F§ qTRT AR s Y e w5 9
T 8000 74T 8 9§ H T 9800 B el B = By
Tffwad-
A) 12% "B) 15%

(©) 8% (D) 10%
(E) . Question not attempted / 3TTqRT T

‘X" lent ¥ 8000 to “Y* for 2 years and T 6000 to
‘Z’ for 4 years on simple interest at the same rate
of interest. ‘X’ received ¥ 2400 in all from both
of them as interest. The rate of interest per annum

70

1S8: J
HTLTROT AT 6 FHM SR X 2 91 o forg Y &l
% 8000 70T AT B 71T 2’ it 4 F9F & R T 6000
U ST 81 X AT AT 2400 ST % & F W
T 81 ST T AT gL R-
@A) 7% (B) 8%
(© 5% D) 6%
(E)  Question not attempted / eagﬂﬁ?r B
The simple interest on a sum of money is —;" of
the sum and the number of years is equal to the
rate percent per annum. The rate per annum is
Rt i ot RO ST SE e AR
SR =TT hl Arfifep o, aﬁﬁm%m%lm
il afi T E:

971 |

®) 33% ®) . 23%

© 25% ® 3%

(E)  Question not attempted / AT ¥4
ABC-A3] (@)

When 111 is subtracted from a number, it reduces |

15

72

73

74

(E)

According to the 2011 Census the highest density
of population in Rajasthan was in which district?
Choose the most appropriate answer from the
options given below:

(A)  Alwar (B) Dausa

(C) Jaipur - (D) Bharatpur

(E)  Question not attempted . :
2011 =t ST & TR Tsreor ¥ o ot
U SEET S T

frafafas i T8 waffamm?ﬁm%ﬁ
(A) e (B) Jr

©) =g (D) WWE

(B) rgafawy

During the decade of 2001-2011 in Rajasthan, in
which district was the highest growth rate of
population? .

Choose the most appropriate answer from the

options given below:

(A)  Jaisalmer (B) Barmer

(C) Bikaner - (D) Ganganagar

(E) Question not attempted

2001-2011 33T & Toreey & Frer et seear

Fia Tt off?

ﬁm%ﬁaﬁﬁm’rﬁﬁaaﬁammaﬁw?r

(A) SEER ®) weR

(C) s (D) TR
Skl

Which of the following structures is a short form
of pond, found mostly, In western Rajasthan?

Choose the most appropriate answer from the
options given below:

(B) Lakes

(A) Khadin
(C) Beri - (D) Nadi
(E)  Question not attempted

ﬁmﬁﬁﬁﬁﬂaﬁmﬂmmw@am%
Y ITfreRiE: et ToT i reft st 29

ﬁﬂ%f@aﬁwﬁﬁﬁﬂaf&mmmaﬁ
A T B) e
©) =& (D) )
AT )
[ Confd.g..g .



B

75 In which city is the Haveli of the Bachhawats

situated?

Choose the most appropriate answer from the
options given below: '
(A) Siwana

®) Jajpur

(C) Bikaner

(D) gﬁittorgarh

(E) E?lestion not attempted
SrooTadEh] Tl - weH from &
PreaRefigg e & wrarfire g I
(A) faakm

(B) SE

© e

@) - frisTe

E) a;l(;;)%fﬁ?rsrar

L .
76 Which ©ff the following songs is sung by men

during Iglgli? :
Choosefﬁe most appropriate answer from the
optionszgven beloW: |

(A) Badhava

(B) ’f;!@jan

(©) R‘.asla

D) %/Igyara

(E) ﬁkstlon not attempted

@?ﬁwﬁggﬂi‘r FRT - 1T T ST &7
ﬁtri’afia?rﬁm‘rﬁ@ryaff%immaﬁ

D) &
(E) (aﬂmf’rcr e

ABC - AT O

77

78

16

ist-1L. o
Match List-1 w1thn1ta:;vt I (AT (Featite {
List-1 (Instrume i This was beaten
a, Ektara i i 5%
with two thick
i wooden sticks.
b, Algoja Q. L Mo insmen7
o ‘ B_hop,on
c. Ravanhattgi ITL. Meerabai used fo
, , P> play th'lS instrument 3 il
4, Joga O TV PHIBLAS
instrument
T Wlﬁﬁ I mﬁﬁﬂ? LAl
. et ) -:i* Tt c%r‘?mm
a’- AT N L Waﬁam
[~ FEEdH il '
™ ST &l ,
b owEET od IS e
TaEET 1. o e s
— e e off
4 wmE (N IV, Sigh S
Choose the mos?«%ppropnate answer from the
options given be Wi ;{
e ﬁaaﬁéa;mmaﬁ
(A) a-IV,b-fihc-1,d-1I
@B) a-TLb-TYc-T,d-1
(C) a-Lb-T,c-MLd-IV
(D) a-ILb-IV,c-Ld-II
(E) Question Ig&;attempted / Wﬂ'ﬁﬁ b
Which one of thexllowmg is not a Sufi Saint?
Choose the mosg-appropriate answer from the u
opuons given beldwy:
(A) Dadu Dayal)
(B) Amir Khu$td
(C) Baba Farid
(D) Khwaja Moinuddin Chishti
(E) - Question it} attempted
Freferfam o & S o T 2
frfafea L¥ & waifére suge s IH:
C (A TREWE gy (B) ERgEd
(C) WEw{E() (D) T AR o
€) T S
‘ [ Contd



T 2, %m&mm%n
'ﬁm%%ﬁﬁﬂﬁﬁmf&aﬁfg?ﬁ T
(A) e f::;
B ™
L (© wEE ey
(D) Tl

IaiEa 9 -
(E) = "

o

80

"%mmﬁmm%maﬁt

BC

The life history of the saints (which is) available | 81

in poetry form in Rajasthan is known as

Choose the most appropriate answer from the

options given below: . . -

| (A) Jhoolna” . :;:

B) Parchi A ;i‘\!
‘ ‘ i e
) - Jhamafll : N
(D) Vachnika ()

=3

"(E)  Question not attempted

ﬁmsﬁﬂﬁﬂvsﬁmﬁqﬁmﬁ

The Amendment Actwhich ceaSeﬁ thereservation
of seats for Anglo- Indlans in the Lok Sabha and
Legislative Assemblies:~ g«f';

Choose the most appropriaté.answer from the
options given below: ‘ 3 )
(A)
(B) 107" Amendment Act (¥

© 104t Amendment Act < ‘
(D) 1050 Amendment Act |£<u.. ; 3
(E) Question not attempted ;(,“%1 o

. 106th Amendmeﬁf Act, -

TR G mn
ﬁﬁ%ﬁﬁﬁ'@f’ﬁﬁmﬁ%@mﬁﬁ
(A) 106a1wﬁu=raﬁ%rﬁmr

(B) 107 mmﬁu:ratﬁrﬁwi“é

© 104mmﬁma;rli1ﬁwq

(D) 105 mwsﬁw:re:rﬁ:ﬁumﬁ
(E)  argafea s =
-A13] @ . ' 17

. Who among the following is the recipien

82

f of the

Dadasaheb Phalke Award 20247

Choose the most appropriate answer from the

options given below: ("}

i
(A) Amitabh Bachchan g}
(B) Mithun Chakraborti" q
(C) Rekha '}
(D) Rajnikanth

(E)  Question not attempfed
mﬁammw@mw 2024 ¥
g fomam w82 e

#%ﬁqmﬁwﬁﬁﬁm%wmmaﬁ
(A) A S== i:p
B) frgT = -
(C) w@r -
(D) SHIRId <
(E) igaiaws ey
_ A
!*\‘2

Which of the following is”not a Rab1 crop in
northern India?

05

Choose the most appropriate answer from the

options given below: =1

(A) Mustard (ﬁ

(B) Gram ¢

) ft..

(C) Wheat ‘ N

(D) Maize v

(E) Question not attémﬁfgd

T 6 0 - S YR B Tl o e e 2
 Freafefia et 2 e vogen s g

(A) wEr it

® o

© ¥ >

(D) oA ‘ ;:: ‘

(E) Irgaiaws

[ Contd...
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The phenomenon in which in an image formed by
the mirror, the left of the object appears on the
right and the right appears on the left is called-
Choose the most appropriate answer from the
options given below:

(A) Lateral reflection
(B) Total internal reflection
(C) Diffused reflection
(D)  Regular reflection
(E)  Question not attempted
Wvﬁmﬁaﬁmmaﬁﬁﬁwﬁmw
ST 9T MR ST AT s ar ﬁ@ﬁ S 2
HTATT & -
Frefarfan fredt i 4 waffam 39 I
A) T wEST
(B) i rfafes wady
©) Toufm @t weds
(D) Tl wEds '
(BE) orgaf@wax
84  When an object is placed in front of a mirror the
image formed by the mirror is eréct, of the same
" size as that of the object and is at the same
distance from the mirror as the object is in front
of it, the mirror is-
Choose the most appropriate answer from the
Optioﬁs given below: |
(A) - Concave mirror (B) Parabolic mirror
(C) Planemirror (D) Convex mirror
(E)  Question not attempted |
U S T TUOT % QT W@ T 8 o R a
sfafersr &, 3 g 3 smew 3 g S adw &
S ot o # fore o 35 ey o 31 7
T |
ﬁ%ﬂﬁwzi&waﬁ&rﬂwgﬁm%ﬁ‘
(A) @i (B)  wawfieedn
 (© wmawdw (D) seeredw
(B) igafw gy
ABC - A13) 18
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86

87

- (B)

: ﬁw%%aﬁwfréwaﬂaa;mmaﬁ
- (A)

‘sugar level s the:

During exhalation, the tibs-

Choose the most appropriate answer from
options given below:

(A) Move up and inwards

(B) Move down and inwards
(C) Move up and outwards
(D) Move down and outwords
(E) Question not attgmpted
ITTaEA % SR qHfe-
ﬁmmﬁﬁmmmﬂ-}
(A) FWAT ST AT AR ATHFATE
(B) R it afg oy afe i s 8

(C) FHU AR =TT hT TR T e &

(D) st amer r si Ty w §

(BE) - rgafaws

The longest part of an alimentary canal in human 3
beings is the:
Choose the most appropriate answer from the 3
options given below: b
(A) Small intestine (B) Large intestine f
(C) Stomach (D) Oesophagus
Question not attempted

T TG AT T Gt ST Sy &

B At
SAHTERT
SAgaRa v

(B) a@ﬁamr
©) (D) gt

(E)

The gland' that secretes hormones as Well as
enzyme in the human body and controls blood

Choose the most approprmte answer from the
options given below:

1
(A) Adrenal gland (B) Pancreas %
() Hiyes (D)  Salivary gland “%
(E)  Question not attempted % i
ﬁﬁraﬁm%mﬂtﬁaﬁ#%mww “ft ey ,;
T ST A e s,
(A) SAftgFs (egdiFe) ufr ‘ 3
B) TR AfsFETE) ”_
(©) ¥ (fere)
(D) wrRufY |
(B) rgaitays
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‘a. The special movement 1.

Match List-I with List-II.
List-1 List-11
Peristalsis
of the muscles of
oesophagus 1
b. The first and the 1f") Buccal ca§ity
smallest part of the <
small intestine ‘ gﬂ
¢. The terminal end of IIL) Duodenum

the alimentary canal (Y)

d. The part of the IVJ Rectum
alimentary canal in
which the mouth -
opens v
Feft-1 3 arer geh-11 61 vt zﬁﬁm
@.1 Fg.ff-ll
a. mﬂa"r‘q?miaﬁﬁm‘r I AT
1 fdr ey () '
b. TR AT F TE A 1y TG TET
T BieT WA

c. TR e v 3fow w1 weel
d. STTE e 1 I8 RS V) Hemr

e & G A8 <3
Choose the most appropriate Answer from the
options given below: I'"
ﬁmmﬁmﬁﬁaﬁﬁzﬁmmaﬁ
(A a-Lb-IV,c-ILd-IE3
(B) a-ULb-IV,c-II,d-1I
(©) a-I,b-Ic-M,d-1IV
D) a-Lb-IILc-IV,d-1C]

"(BE) Question not attempted, /.%ﬁ?lﬁ'ﬁ pel

In Rajasthan Haansli is worn );pnwhlch part of the
body? A

Choose the most approprmté Answer from the
options given below: 5

(A)  Ear (B) Hands

(C) Head (D) Netk

(E) Question not attempted{¥}-
TSTET # RIS HA-H |1 fr%ﬁ'r&ﬁqﬁﬁmf*ﬁ%?

Pty freredi § 9 %nwaﬁ‘(aﬁ
(A) wH ® FY
© fw (D) ’ﬁ,‘?
(E) Iuiawd .
ABC -A13] @
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9

Who presented the first scientific classification of
Rajasthan painting?
Choose the most appropriate answer from the

options given below:

H

(A) Ananda Kentish Co¢fijaraswamy
5 b
B) RaiKrishnaDas .~
B) &
(C) Vijay Kumar [
™

(D)
(E)  Question not attemp"'"&ﬂ

ey femeRa 1 W %ﬁrﬁm Fffentor foRger
WMWWW m
m@aﬁmﬁamﬁwmmaﬁ
(A) m%&‘mm

(B) TTF

W. H. Brown Nes

() FsFzAR (o
(D) S @@.FET i
~
(E) gai@yyd M
i%:ﬂ
SOOI
Bugyals are- <
Choose the most appropri }e answer from the
options given below: €2
(A) Vast meadows in high mountains

(B) . Snow covered mountain peaks

(C) Dry forested areas ig.Kumaun

(D) Dry forested areas iﬁélitashmir

(E)  Question not attempted

g § - ol
ﬁﬂ%@ﬁﬁﬁlﬁﬁﬁﬁﬂﬁhﬁ Sagm I
(A) =9 Ul o foreqa TYEg &

(B) = srsTRa W ﬁf‘é}

(C) FHTH H Ik o aam '

(D) Wﬁwaﬁ@ﬁg}
(B) SERasmH () _
@ [ Contd...



92  Maru Raikas are the pastoral groups of Raikas
who are-
Choosc the most appropriate answer from the
options given below: |
(A)
(C) Camel herders (D)

Goatherders (B) Cattle herders
Sheep herders

(E)  Question not attempted

i AR TASHT T <RI T ST 39 T61 T8 & & <Y
Freiferfan faraeet i & wratfires suges s
(A) TS RIEIE |

(B) wafywl = urew &

© IFAwHIETE

(D) SR TEAE

(B) STfafdgg

93  Gaddi shepherds Belong to-
Choose the most appropriate answer from the
options given below: |
(A) Rajasthan
(B) Maharashtra

(C) Uttarakhand

(D) Himachal Pradesh
(E) Question not attempted
TE ST (36E) Hefy T -
frefafen fomed § & waifaes sugw sav:
(A) TTEH
(B) WERrZH
(C) ITTEEd
(D) Ter=EwRwd
(E) rgaiawer
ABC-A13]
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95

@ 20

b.
o TR TR S
d.

Some of the major National parks and sanctuaries f

of Rajasthan are-

a. Sitamata Sanctuary
b. Keoladeo National Park
c. Ranthambore National Park

d. Dudhwa National Park
Choose the most appropriate answer from the
options given below:
(A) (b)and (c) only
(B) (a), (b) and (d) only
(C) (a), (b) and (c) only
(D) (b), (c) and (d) only
(E) Question not attempted
TS o 3 T T I ST SN € -
a.  HIAHmEr e
Faded TS Fa

RREIRUSiPETI]
ﬁﬁqmﬁmﬁﬁaﬁwmmaﬁ
(A) 18 37 (b) 31 (c)
(B) &= (), (b) () - _
(C) = (a), (b) 3R (c) g
(D) %A (b), (c) 3R (d)
(B) SAuiaws

“Nilagai” is a species of-

Choose the most appropriate answer from the
options given below:

(A) Horse

(B) - Buffalo

(©) Cow

(D) Deer

(E)  Question not attempted i
et et # & ararffore swges soa:
(A) HgH

(B) Hafr

(C) . TFH

(D) T

(E) oTafausy
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The advantages of the cage system of rearing
poultry birds are-

L a. Rearing of larger number of birds

b. Production of clean eggs

c. Control of parasitic disease '

'‘d.  Ensuring proper ventilation

bhoose the most appropriate answer from the
options given below:

(A) (b)and (d) only

(B) (a), (c) and (d) only

(©) (a), (b) and (c) only

(D) (b), (c) and (d) only

(E) Question not attempted

i s S
a. 3w dean 7 afdR 1 e

b, oD 3T F I

c. VSIS TN A

d. Y aTaA o g

= R e forepedt 7 & waffiren sages soU:
(&) e (b) 3 (d)

(B) e (a), (c) 3N (d)

(C) e (), (b) 3R (c)

(D) A (b), (c) R (d)

(B) SIfaRawd

Milk fever is usually observed in cows and
buffaloes around calving time and is characterized
by- :
Choose the most appropriate answer from the
options given below:

(A)
B)
©)
D)
(E)  Question not attempted

T 3R ¥ § geas % 9HT (FifeaT =) LS
et firees e o <ieIor 8-

Tt foreredt # & waffae sugw S TH:
(A) T IR T ST

(B) © T ¥ chicwaw &L &l &1

(C) T wiefirm Tt =

(D) F H Hicaad T s

(E) Srqaiauy

®

Increased blood potassium level
Reduced blood calcium level
Reduced blood potassium level
Increased blood calcium level

21

98

99

100

Mareks disease is a common disease of-
Choose the most appropriate answer from the

options given below:

(A) Fish (B) Honey bee

(C) Cattle (D) Poultry

(E) Question not attempted

Hiteh T Tk AT AT 3 - .

reafefiae e & wrarfires guge st o
(A) wSftawr  (B) WYESE! W@
(©) g (D) FFFEH

(E) rgar@ s

The Meja Dam has been built on which of the
following rivers in Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Som River (B) Kothari River
(C) LuniRiver (D) MahiRiver
(E) Question not attempted

TSTET <hl ey e o TISAT Sfier maT 7T 27
frfafea fashedl & & waifaes soge s

(A) wFE (B) e &
(C) =Lt (D) W= ALY
(B) rgat@us

Ifa:6=5b:7=c:8, then what is the value of

M’iq
btc )
gk a:6=b:7=c: SH}E—ZE_I’—CEHW
FT8?
T 11
@\ = ® 13
5 5
= D =
© 7 (D) 3
(E)  Question not attempted / TFafa ¥

[ Contd...



101 In what time, T 8000 will amount to T 9261 at
20% per annum compound interest when the
interest is compounded quarterly?

(A) 1Year (B) 9 Months
(C) 3 Years (D) 1% Years
(E) Questiox{ﬂpt attempted
fera wwer & T 8000 Y TR kel =TT W 20%
i = & T 061 & s, af s Sl
i A,
Aa) 1ad M (B) 9WE
© 3= O @ 1lad
(B) Srgaiaws |
4
102 A certain sum{b¥comes 8 times of itself in 18
- years on cornpgﬁnd interest. In how many years
will it become iiouble of itself?
i TR ST T 18 9T i T i g A
ST 8 %ﬁmﬁﬁﬁmﬁms‘rm@ﬁ?
@ 7 9 @ s
C 5 ” D) 6 iy
(E) - Questio%;pi)t attempted / SED?I‘F{H BES
W 2 -
103 Ifa:b=2:3,thén whatis (a+b): 3a—b)?
AR a:b=2: 5 (@+b): Ba—b) TR
(A) 5:3 g‘i (B) s:iz‘ '
(CY M35 ¢ .7 D)7 2%5
(E)  Question not attempted / SN T

104 If the price ot?;%tr‘o'l increases by 20%, by what
perc'entage shoufld the consumption of petrol be
reduced so thaf there is no change in the éxpenses

on petrol? & '
YEIT T ST 20% oG ST 81 Ik IUhT F fohery
s 1 2Bt et s, R et v € A =
I R?
(A) 16—§—°0 ol
B) 13+ A»S;E
© 25 e
D) 20% (< ;
(E) Queétio?i}%ot attempted / 31T T
ABC -A13] @a ‘ 22

105 The salary of Sidhant decreased by 16% in ohe

106

107

w T @ owd
© suE (D) 7%FH b
E)  SFFRATH

wit

(A) Liggg of Independent Assortment

B) L{v& of Segregation

(©) Law of Dominance

D) ng of Aberration

(B C%LI,C}SHOII not attempted ; 4

e & Hi-am s s wh frem g 27
st freedt & wrrtfires suge 3o
(A) T Iraege .

(B) - g T iR ‘

©
(D)

(E)

year due to recession and in the next ye ;
increased by 25%. The net percentage change in n"

.:‘ 3

the salary of Sidhant is: i
(A) 7%]Increase (B) 9% Increase |

© 5‘%;:ipcrease (D) 7% Decrease

(E) Qifestion not attempted

wa%sss&u#@a&ﬁmwamm%azm
ﬁﬁg&zs%mwnﬁm%éﬁqﬁm

If the dlf;ti:'e!rence between 71% and 62% of a_‘j

number m,%l, what is 25% of the number?

Fﬂ“f@@sz%n%aﬂr@z%ﬁamm 3l 39 °EqT |

T 25% T &2

(A) 27;i (B) 325

© 225 (D) 250

(E) Qgéjtlon not attempted / ST S
f

Which é_()i] the followmg is not a Law of [
Inhentafc’é”
Choose Ltl:{e most appropriate answer from the

options given below:
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A

108 Who is known as the Father of Genetics?

109

110

Choose the most appropriate answer from the
options given below:

(A) Charles Darwin'(B) = Hugo de vries
(C) G.J.Mendel (D) -Bat’eson

(E) Question not attempted .

Freferfta faeredt 3 & wrarifire sugw swogy:
(A) wdElET  (B)  wi s

© Sed=E - D) T

(E) ogafayd |

Which of the following is not a part of the human
respiratory system?
Choose the most appropriate answer from the

options given below:

(A) Medulla (B) L arynx
(C) Bronchi (D) Alveoli
(E) Question not attempted

frefoifga d @ #H- mwwaﬁwm‘feﬁ%‘?
freffiaa froredt & & warffires sage satgh

(A) ggem (B) @3 (i)
© =l (D) R (et
(B) rmia g% g

Curd is formed by the microbial‘action of which
bacterium? ‘ |
Choose the most appropriate answer from the

options given below:

(A)  Salmonella sp.
(B)  Mycobacterium sp.
(C) Lactobacillus sp.
(D)  Streprococcus sp.
(E) Question not attempted
T fepar Sftauy <t gramrsiielt fma & s &7
frfafaa feedt § & waifers 3ug™ SO
(A) wcgEerel, (B) AIEHAEINEH T,
(C) wIadiea ol (D) é@ww
() g ws

ABC-A13]

®
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111

On which of the following parameters the

crossbreeding ~ programmes for  variety

-improvement in poultry are focused on?

a. . -Number and quality of chicks.

b.. - Tolerance to high temperature.
¢. . High maintenance requirement.
d.  Increase in the size of egg laying birds.

Choose the mtost appropriate answer from the
options given below:
(A) (@)and(b)only (B) (a) (b) and (d) only

(C) (@and(c)only (D) (b)and (d) only

(E) Question not attempted

THHC | T guR F AU @ g i

frefafaa & & forr greret wRtEa &2

a a@r#maﬂtml

b mm%uﬁrwsﬁam

c. I @I hi ATAIHAN

d.  %ier 3 are ufdEl % R H gfy

frefeariaa forkedt & & waiférs sag® SataH:
- (A)  F (2) 3 (b)

®) ¥ (a), (b) 3 ()

(C) % (a) 3 (c)

(D) =ad (b) 3K (d)

(E) ruiawyyd

S112

Which is the only river in Rajasthan which flows
for all_fWelve months of the year?
Choose the ‘most appropriate answer from the

options given below:

(A) Mahi ®) Bangangé
(C) Sabarmati (D) Chambal
(E) Question not attempted

TSTET 3 - Fﬁwaﬁﬁaﬁﬁmqﬁ-}m
s 22

v'ﬁﬁqmﬁmi‘rﬁuaﬁmwaﬁ

(A) W (B) momi

(C) W D) <@

(E)  rgafa s

23 [ Contd...



113  Match List-I with List-IL

114

~A.

List-I List-IT
(Name of Tree / (Utility of Trees/ :
- Wood/Grass) "“", Wood/ Grass)

a. SAGWAN%R{EE I.  Making coal

N . by burning it
b. SALART II.  Animal fodder
c. DHOK ¢y III. Making tools

L of Agriculture
d. SEVAN & IV. Making packaging

DHAMA boxes
-1 % AT gl w1 e R
-1 R i
(aa:/aats’tmn{; (T /TR
TRT ATH) M e 6t SuaifiE)
a WEAIES L @ veE e
' SAET
b. HARIE (;";i.j TR N iy
c. HiF  <f I FRFAREE
d. Ggur IR ail V. SHfSiT o feser s
Choose the m}gw appropriate answer from the
" options given bg}qw

Frer R e foreradhdt & waffaren mwaﬁ
(A) a-Lb-Lc-II,d-IV
(B) a-IV,b';%II,c-II,d-I
(C) a-ILbgALc-1V,d-1
(D) a-ILb=FV,c-1,d-1I
(E) Questiorq"s Hot attempted / &gﬂﬁﬁ ’SP}T

In cattle d1gestﬁn of cellulose occurs in-
Choose the m&v:g appropriate answer from the

" options given below:

(A) Small intestine (B) Large intestine
© Oesopha(‘gﬁgs (D) Rumen
(E)  Questiongot attempted
a7l B eI ISCHT U BT R -
ﬁm%@aﬁa&ﬁaamﬁammmaﬁ
(A) f&\e"rm@ ® whe
(C) WA ¢ (D) =AH
(B) AJaRayx :

ABC - A13 ] @
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116

117

Cud is-

Choose the most appropriate answer from the
options given below:

(A) Partially digested food in carnivores

B) Fully digested food in carnivores

© 1dlly digested food in cattle

(D) Fuﬁﬁ,dl gested food in herbivores

(E) Qugstion not attempted

Erqfaf@%ﬁwﬁﬁawﬁaasaugmw@:
HigTE T F STifir & T e

(A) ,
(B) wiamsTiEl # quf uifra HisH
(C) Rl Hifireh w9 4 urferd His
(D) STt 7 ot wifere s
(E) v
[
The respifatbry organs in fish are:
Choose th&Ymost appropriate answer from the
options givén below:

(A) Gills (B) Fins

© Sp racles (D) ILungs

(E) ngqtlon not attempted

TR 7 gy 3T

Tererferatrferedt # & aaifires sugw o

(A) @ B dE e
O D) %I

aq%ﬁaw

Which of the following is the pastoral community
of Rajasé)f? :
Choose the most appropriate answer from the
options givén below: -

(A) Rdikas
(B) Dhangars
© Gmr Bakarwal
D) Géagh Shepherd
(E) Question not attempted :
freferiae¥ & F-ar Tsteer T oy gyEr
g
ﬁﬂﬁf@%ﬁﬁﬁwﬁ&maﬂgﬁwﬁ;
(A) TFs (B) TR
(©) TRFFEEE (D) TSR
(B) <A@y
<
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{18 Match List-I with List-I1.

L5
List-I List-II"}
(Shepherd | (Belo?éf to)
community) i
a. Raikas I J&*nu and Kashmir
b. Dhangars R(ggsthan

c. Gaddi Shepherds
d. Gujjar Bakarwal

I1I. Maharashtra
IV. ng%achal Pradesh

-1 % w11 61 fore iy
Tefl Tl
(TS HEET) m‘aﬁa%)
a. IR Gl%\-%ﬁ'(m"ﬂ‘(
b. UK II. <RI
c. TETEE III. HERTSE
d. TREEE IV, %ﬁ%—«rm

Choose the most appropriate@hswer from the
options given below:
ﬁmwmﬁﬁmwaﬁ
(A) a-Lb-IILc-1V, d—Ig

(B) f-ILb-T,c-IV,d-I

9C) a-IV.b-TL & nd;f‘"’

(D) a-I,b-MILc-IV,d-Eft

(E)  Question not attempted?t éﬂﬂﬁﬁ B

N

119 In India the Wild Life Pfdtection Act was
implemented in- &
Ty 2 rrfier Geeor SR AT AT TRIT o -
Choose the most appropriatggnswer from the
options given below: W‘
ﬁmﬁmﬁmﬁﬁmmwaﬁ
(A) 1972 &y |
B) 1976 22
(C) 1968
(D) 1970
(E) Question not attempted / TN &1
ABC -A13] @
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121

(E)

In sports and games the Dronacharya Award is
given to:
Choose the most'appmé?fzte answer from the

<
™
e~

To eminent coachedy)

options given below:
(A)
B)
©
(D)
(B) ‘Question not attempted

e Aerd g ]

FrefRrfae feredt o aafﬁﬁﬁwg?ﬁmgﬁ:
(A) W%m‘

(B)
©
D)
(E)

Players of Arche

Players of Olympigwaames

Players of Commonwealth Games

The amount of Award (?ﬁbney for Paralymplc
Games 2024 (Summer ancquter) Silver Medal

winner in India is: }‘“
Choose the most approﬁate answer from the
options given below: - p={
‘(A) T50Lakh g
B) < 30Lakh N
©) 31 Crore g
(D) T 75Lakh. ")
(E) Question not attergi;fed 54
T § refrass @e 2024 (s ST sfidenreli)
o e e e R
ﬁﬁ%@ﬁﬁﬁtﬁﬁﬁwﬂf@wa@wwgﬁ:
A T sowma (N
@) T30 &
©) T 1we M
@) 759 -
AT
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122 Who among the following has never been (upto

123

124

Chief 'Minister of

September, 2024), he

Rajasthan?

Choose the most appmprmte answer from the
options given below: '

(A) Bhajan Lal Sharma

(B) Bhairon Singh Shekhawat

(C) Sachin Pilot ‘

(D) Ashok Gehlot

(E) Question not attempted
ﬁw%%ﬂﬁ@rﬁqmﬁ(ﬁam 2024 W)Wﬁ
T JEIHAT el T/I? :

Freferfiar fyeredt i & waHere Sugw IR
(A) veAAEYEl  (B) . i e SramEa

() uhAwEEe (D) axsﬁamzr-ﬁa

(E) 3faia g

Which of the following is not a metal?

Choose the most appropriate answer from the
options given below: _ i ;
(A) Magnesium (B) Mercury

(C) Sodium (D) Phosphorus

(E)  Question not attempted ‘
fefafea @ s agaeie?r
Prfofeae e 813wl Tugm ST G
(A) BT (B) . IRI (TH)

(Cc) wfeaw (D) HIERTH

(E) i w= "f

Choose the incorrect option about the 1mage

" formed by a plane mirror. The image is:

Choose the most appropriate answer . from the
options given below:

(A) Ofthe same size as the object

(B) Virtual : -

(C) Erect and laterally mverted

(D) Real

(E) Question not attempted

Fe T g S T WRif & i § e
forpea w1 g it Ifaferar g -
firfifiaa freredl 3 & watfiar 9gw S H:
(A) TE]F AR H

(B) S

(C)  Htar 37 arHa: ??T(B_m"ﬁﬂ)

(D) dTERE
(E) SAguiaws

®

26

125

126

127

(E)

Who opened almost 300 schools between 1944 to

1956 in the desert villages of Bikaner?

Choose the most appropriate answer from the &8

options given below:

(A) Acharya Tulsi

(B) Kripal Singh

(C) Komal Kothari

(D) Swami Keshwanand
(E). Question not attempted

fRpu 1944 9 1956 a‘sa‘}aaﬁaﬂﬁr%ﬁﬁmﬁm@rﬁ
TTAT 300 T EieT? ;
frafafaa faeret i & FraT iR TG I T+

Who afnong the follox;ving may be called the first
prose writer of Raj asthani literature?

. y 2 "
S N e S e g e B S e R e
ﬁ&ﬁ'he‘s-: e BN N e i | AN R U i o

(A) Meghraj Mukul

(B) Shiv Chandra Bhartiya

(C) Vijiyadan Detha

(D) - Vijay Singh Pathik

(E) Question not attempted
ﬁn%ﬁaaﬁ%%ﬁmﬁaﬁammw e
@ HET ST FhlT 82

(A) TSTEE (B) frewmawdn

) fememan (D) feafEeRm

(E) i@y :

Poetry work which describes  the
achievements of a dynasty or an individual is:
Choose the most appropriate answer from the
options given below: 7

(A) Prakas (B) Rupak
(C) Raso (D) Vigat .
(E) Question not attempted
98 HreaHa o el UerEy a1 st B AeH
U T G AT 8, FETd o
Frerferfe e 3 & wrartfares Tages S
(A) Yo (B) ®I&
(©) wEr . (D) T
AT T

[ Contd...
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128 One stringed musical instrument that can produce'

129

130

ABC-A13]

(@A) @h

" (A) e et AT

. a wide variety of tunes and melGdles is called:-

Choose the most appropnate aﬁswer fmm the

options given below: l R

(A) Pungi (B) Rawanhattha
(C) Ektara (D) Khétal

(E) Question not attempted : PB

@mmwﬁﬁmwsﬁﬁﬁmwﬁgﬁaﬂt
T I T FHAT B, FHEATAT B o
ﬁm%%ﬁﬁm‘rﬂﬁwﬁammwgﬁ
(B) N

(D) T

£
(¥}

The word ‘chhe’ indicates the ﬁﬁjarati influence

THarl
ATaRa 7

(©)
(E)

on which of the following dlalects'7

Choose the most appropriate (q.t}swer from the
options given below: AT

(A) Mewati . (B) Bhitl

(C) Dhundari D %;%adi

(E) Question not attempted ¥}

T5a ¥ FHH-ET el TSI ST gt 82

ﬁqﬁfﬁaﬁﬁzﬁq‘rfrﬁyaﬁéﬁmwaﬁ

(A) - TaTdt
©€) I
(B) rgaita

(D) am;%
) rs-.,, !
i
Which is the biggest fair of Ra_]asthan s tribal
ok

somety‘?
Choose the mtost appropriate answer from the

v

options given below: "

(A) Kaila Devi Fair (B) Shr%;Mahawrjl Fair
(C) Kapil Muni Fair (D) Benéshwar Fair

(E) Question not attempted
mmﬁﬁﬂWmm@%w@m
¥ LA

B) i wETEE war
) whergfrier (D) soravier
(B) Srgui@ s

O,
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Which fair is held at Bhav r’%arh Bandhya village
near Jaipur? N ,
Choose the most approp{ﬂte answer from the

- options given below:

(A) Kapil Muni Fair

(B) Khalkani Mata Do%kgy Fair

(C) Sheetla Mata Fair pp

(D) Karni Mata Fair

(E) Question not attempted .
W%ﬁwwmmﬁﬁq—mﬁwm
frfefiad fasreat 58 wafﬁwmm o
Q) AT oy

(B) #ft @ereRrofl ATATT T,

(©) - M amETHer .,

(D) FTHHETAA I

(B) Sai@aws ™

Identify the characteristic Fehtures of the Aravali

region in Rajasthan.

a.  The Aravali mountdins are also called
Aadaval mountain{¥)

b.  The Aravali mount#ifi range is regarded as
one of the world’s oldest mountain ranges.

¢.  Its height increaséS™from South-west to
North-east.

d. Gurushikhar is thE" } hlghest peak of the
Aravali ranges.

Choose the most appropriate answer from the

options given below:

A a@™
(A) (a), (b), (c) an ()"q‘

(B) (a), (b)and (d) onl

© (@), (®)and (©) only..
(D) (a),(c)and (d) onlm

(E) Question not attempt?d

T | ﬁgﬁ:ﬁﬁﬁmﬁ EARCECIC
it

a

%ma?ﬂqefaﬁaq%mamvﬁww
i
b, IREEh wdd a@ap%fa it wrias v

siEel Tt STt 21

asﬁwﬁmﬁ%awﬁﬁm

gl el -f\
d. Wmﬁﬁ@ﬁﬁﬁmﬁ?ﬁff%l
ﬂ%ﬁqmﬁﬁ%ﬁﬁﬁwﬁmmﬁm@:
(A)  (a), (), (©) F(d)
(B) 3 (), (b) 3 ()
() ¥ (a), (b) I (C)
(D) Fa (2), (¢) 3 (d)
(B) SR ¥
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133 Rajasthan is situated in the part of India.

134

135

(A) East-Coast (B) North- Western
(C) North -Eastern (D) North-Southern
(E) Question not attempted
(I YRGF  umH Rl
(A) wHiae (B) IACfEHT

Y (C)  Suegdl (D) Sl
(E) Igaiayd.

Due to the high utility of this tree in the Thar
Desert of Rajasthan, it is called as the
‘Kalpvriksha’ of the desert. ‘

Identify the tree from given below options.

(A)  Thor (B) Babool
(C) Khair (D) Khejri
(E) - Question not attempted

TSTE F R Feede #f Tty Swnt g
T 36 T I TEEAe Hl “FII’ FET Sl el

o 73 firereal § @ 981 Y v e
(A) 9 (B) &
C) W& LDy T
(E) HTaidwe

In summer, hot dry and dusty winds which blow

in Rajasthan are known as:

Choose the most appropriate answer from the.

options given below:

(A) Norwester (B) Fohn
(C) Loo (D)  Chiriook
(E) Question not attempted

e & i g 3 =Tt ATt e T O e o7l

freferRea fepedt 7 & waffires 39g I I:
(A) TR (B) ®H

(C) &L, (D) foT®

(B) Sruiws

ABC -A13] @
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d. Plastic bottles

Recycling can be done for:

a. Metal cans
b. Medical waste
c. Radioactive waste -

options given below:

(A) (a)and(d) only

(B) (c)and (d) only

(C) (a) and (b) only

(D) (b)and(c) only

(E) Question not attempted

IR0 AT SIT HehelT

a mg%%a’rmr

b, Taferear srafwrg &

c. Yfearafsra stafitg &
4. e e @
o R e § & wartfie JUgw SR
(A) a9 (a) 3 (d) i
®) FA(@I@ 4
(C) Fad (a) 3N (b) i
(D) FE (b) 3 (c)
(E) oTgai@w

" The microorganism that causes Rabies is a-

Choose the most appropriate answer from the

options given below:

(A) Plasmodium

(B) Fungi

(C) Bacterium

(D)  Virus

(E) Question not attempted

it o fore Seerft s ® -

Frefifiae froredt § 8 waifoes Sugm s T

(A) wHIfEET

(B) FA® . :

(©) Sty |

(D) fermo |

(B) i v 9
[ Contd... - :
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Which of the following materials cannot be used
for making compost/manure? '

Choose the most appropriate answer from the
options given below:

(A) Rotten food materials

(B) Oil and paint

(C) Fruit and vegetables peels

(D) Excreta-dung

(E)  Question not attempted

Frfafad & & S vt weEr F7TH ‘3r
it 7 foRaT ST W

FrafaRaa faweat 3 @ waffas suges sw 'a%f
(A) ¥ g e

B) dAIRYE -

(C) il iR wfesmt & fowh

(D) * TeR 3f¥E

(B) oTgai@w s

The fuel we use in the kitchen exists as a liquid.
When it comes out from the cylinder it becomes
‘a gas (Change - A) then it burns (Change - B).

The following statements pertain to these "

changes.

Choose the most appropriate answer from the
options given below:

(A) Both Processes A and B are. chemical
changes

None of the processes is a chemical

(B)

change.

Process - A (Change-A) is a

change.

Process - B (Change-B) is a

change.

Question not attempted

@éﬁmaﬁwéﬂ?mwﬁﬁméiw

7 foeiet & aTeX 317 <raT € °) 9% 19 o7 5T §

(T - A) 36 514 I8 ST & (TREd - B)I =

o oo 5 IREaAl o daf-ad g

Frafafaa faeredl § & Haffers Sug™ ST TH:

(A) T ulEE A 3R B TEEfe gfeda 8

(B) I ufsraTe A TR B WA w1 «ft Teats
aftad e Bl ‘

i - A (I - A) U TRt aiEd 8

gfzear - B (aftad - B) O Tamafies afad 2

AT 94

O,

chemical

©)

chemical

(D)

(&)
(D)
(E)

141

29

140 Which of the following is not a chemical change?

Choose the most appropriate answer from the

options given below:

(A) Melting of iceberg

(B) Ripening of fruits

(C) Fermentation of grapes

(D) Digestion of food

(E) - Question not attempted

P & & -1 AT e T 8
freffaa frredt 3 & wafféres 3ugw AU
(A) Temirer (ata =) =1 foarem

(B) - el T qSHAT

(C) i o feruam

(D). IS T 9=

(E) 3gaiayd

Which of the following is not the indigenous
milch breed of cattle?
Choose the most appropriate answer from the

options given below:

(A) Tharparkar

(B) Sahiwal

(C) Jersey

(D) ' Red Sindhi

(E) Question not attempted

freferaa # & = € gur 33 31 9y Y v e
ﬁﬂ%ﬁﬁﬁwﬁﬁfrwﬁaﬁ%m%ﬁ:

(A) SITUTEHT
(B) WTEETA
() i

(D) et feeft
(B) 7ia o4
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142 The Foot and Mouth disease of cattle is a-
Choose the ﬂu}’st appropriate answer from the
options given, b%low
(A) Funga]@gsease
(B) Plasmddial disease

- (C) Viral disdase
D) Bacterg’)disease
(E) Questigﬁ not attempted
RT3 SHT G- HEIH UTT &
Wmﬁﬁﬁﬁwﬁwmwgﬁ
(A) ash SHa T
(B) EISHITSHH T
(© oy fer
(D) e iy I
(B) AR

The highest percentage of fat is found in which

animal produgt®

Choose the Hpbt appropriate ‘answer from the

options glvengb low:

(A) Fish p~ (B) Egg

(C) . Cow nmfilk (D) Meat

E) Questlmot attempted
ﬁﬁamm%ammsrﬁsmwtﬁmam%?

ﬁm%f@ﬁﬁmﬁﬁmﬁmmmaﬁ
(A) w7y (B). =T
(C) I FeE (D) WfE

amrﬁq o
In whlch of ﬂfé following animal products, the
mlmmum pel%tage of protein is found?
Choose the most appropriate answer from the
options giverrbblow:
(A) Fish (B) Meat
(© Cow n% (D) Egg
(BE)  Questiprrnot attempted

ﬁﬂ%@aﬁ@mﬁmﬁmaﬁm
Wzﬂm%ﬁm

Feafifian frciudt o 3 wrarfires 30gw S G
(A) w=Ht . (B) T

© TEHg WD) e

(B) SHui@wy
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146

(B)

(A)

- (D)

he system Of farming where Crop production

T
stock etc. are done on the samg e

and raisjng of live

farm is Ehlled as-

Choose ’tﬁe most approprtate answer from the

optlonslglveﬂ below:
(A) Miged cropping
(B) é{(}p rotation
(C) (gf’g)anic farming
(D) Mixed farming

(E) Quebtion not attempted
it i1 a8 et e e Scared Biﬁ'(‘TST {

waﬁmﬁmmﬁﬁwﬁim“
?- ‘
ﬁrqﬁ*-rﬁﬁﬁ%arw’tﬁﬁzaaff%wgﬁmgﬁ:
(a) e
O T
A et
i :%%hﬁsr%r
I"”h-

The cit;{'g:r}; which the kite festival is celebrated in

©
D)
(E)

Rajasthei‘;-l3 on 14 January the day of Makar
Sankranthls

Choose(ﬂie most approprtate answer ﬁom the
options (g:ven below:

Einkaner

Jhi

Ajmer
Udaipur

(B)
©)
(D)
(E) Que{-stmn not attempted &
TSRATE ) 4 SR, Fert wehifd o fo ga qered
ﬁ?ﬂlﬁﬁmﬂm%‘? -
ﬁw%@aﬁmﬁ%waﬁammmaﬁ

(A) R

®

(C) IR

SERER
(E)
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147 Ministry of Jal Shakti has taken up the “Jal Shakti

Abhiyan” with the theme “Catch the rain — where

it falls when it falls”. Which of the following are
major intervention of the campaign?
a. Water

conservation and Rainwater

harvesting

b. Renovation of traditiori_al and other water
bodies/tanks
c: Reuse and Rechargé of bore-wells
d.. . Watershed development
e. Intensive afforestation
Choose the most ap'propriate answer from the
options given below:
(A) (), (c), (d) and (e) only
(B) (), (b), (c), (d) and (e)
(©) (a), (b) and (c) only
(D) (b), (c) and (d) only .
(E) Question not attempted
S Wik W1 | Sl Wik AT [T
‘aq’ra?rqa@_agrzrgﬁft S I8 fire oftm & e
CI%
forfefaa F & -3 1w i wpe meareer 22
b. WRuRE ¥R o= S Frwi /T
EEIEIETU]
c. SN g aﬂrwﬁw
d. IRws fwm
e. & SIATO
= o o ferereat ﬁ T Waffa’w"' Sag Sl
= e
(A) e (b), (), (4) 3R ()
B) (), (b), (@), (@) 3 (e) \
© FE@,®Me
(D) e (b), () 3 (g) 5
(B) alayy ;

149

150

31

' (A) IPHWR 590 (B)

(A)  Surat (B)

148 Which of the following Reactor Type is currently:

operating in Nuclear Power Plants of India
situated in Rajasthan?

T 35 ORI Soolt T o & o 7 fer wat
3 o 7 & for et ot gy froees 27

Choose the most appropriate answer from the -

optiens given below:

Prffae faeredt 3 & waffere Iog S9TH:
I VVER 1000

(C) CANDU (D) BWR

(E) Question not attempted / 3TN T

‘Gram Swaraj Abhiyan’ was undertaken under:
Choose the most appropriate answer from the
options given below:

(A) Sabka Sath, Sabka Vikas, Mera Gaon,

Mera Desh ; | ik

(B) Mera Gaon, Mera Desh

- (C) - Sabka Sath, Sabka Vikas

(D) Sabka Sath, Sabka Gaon, Sabka V1kas
(E) Question not attempted

fFrfeiaa freredt & & waifas sage s
(A) T AT, T faenm, T nfe, 3 ST
(B) Wi, B AW

(C) Gt |1y, WelehT fashrer

(D) T €I, USHT I, GeyohT faearmer

(E) Igafawsy

The first Sherpa Meetings for G-20 under the
presidency of India was held at:

Choose the most appropriate answer from the
options given below;

Udaipur
(C) Mumbai (D) Jaipur

(E)  Question not attempted

IR ht STEAEHT % ierla G-20 3 Frw o Siar

o el Wit Tt off?
ﬁm%%ﬁﬁwﬁﬁﬁmaww@:

(A) q@ (B) IR
©) Hwd (D) SR
(B) 3gmita wH
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